Name: Block: Date;

Making a Solution and Calculating its Concentration Homework

Molarity = Moles of solute
Liters of solution

Ex. 1: Determine the molarity of a solution when 206.41 grams of potassium nitrate, KNO3, is dissolved in

water. The resulting volume of the solution is 3.5 L. 2. OLH"}!YDI
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Ex. 2: Determine the molarity of a solution when §.32 grams of lithium hydroxide, LiOH, is dissolved in water.
The resulting volume of the solution is 100.0 mL.
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Ex. 3: D’ Angelo wants to make 2.0 liters of a 0.75 M solution of copper (li) bromide. Calcuiate the mass of
copper (Il) bromide needed to make this solution.
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Directions: Use beakers A and B to answer questions 1-5.
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Beaker A Beaker B

0.5 grams of 15.0 grams of

sodium chloride sodium chloride

dissolved dissolved

In 100 mL of In 100 mt of

water water
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1. Calculate the number of moles of sodium chloride in each beaker. Show your work

; 2. Calculate the amount of water in liters for each beaker. Show your work




3. Which beaker {solution) is more concentrated?

4. Calculate the molarity of each solution. Show your work .

5. Which solution is the stronger electrolyte? Explain your reasoning.

will this substance dissolve in water? Why or Why not?

7. Determine the molarity of a solution when 16.2 moles of lead (il) acetate is dissolved in water. The
resulting volume of the solution is 5.00 L. (3.24 M}

8. Determine the molarity of a solution when 27.1 grams of aluminum fluoride, AlFs3, is dissoclved in water.
The resulting volume of the solution is 2.55 L. (0.126 M)

9. Determine the molarity of a solution when 50.3 grams of potassium chloride, KCl, is dissolved in water.
The resulting volume of the solution is 375.0 mL. (1.80 M)

10. Juanita wants to make 2.50 liters of a 0.125 M solution of sodium bicarbonate, NaHCOs. Calculate the
mass of sodium bicarbonate needed to make this solution. (26.3 grams)



